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Managerial Problem Definition

An organization is faced with the task of assigning presentation assistants (word processing operators) with different skill sets to 1 of 25 floors.  Each grouping of floors requires a different combination of skills based on the nature of the work.  There is a pool of 100 Presentation Assistants.  They are measured by 6 different skill sets (attributes): graphics ability, attendance & punctuality, QA scores, average cycle times, % yield, and partnership. The top 50% performers in each skill are said to have that skill. 

One manager is assigned to each group of five floors and each require a different combination of skill sets which are listed below:

	FLOORS
	1st Priority
	2nd Priority
	3rd Priority

	1 –5
	Quality Assurance (QA)
	% Yield
	Average Cycle Time   

	6 –10
	QA
	Attendance & Punctuality
	Partnership

	11 – 15
	QA 
	Average Cycle Time
	% Yield

	16 – 20
	QA 
	Partnership
	% Yield

	21 – 25
	QA 
	Average Cycle Time
	% Yield


Required skill sets are weighted with the first priority skill weighted the most and the third priority skill weighted third.  “Function” and “Number of Members” are of equal importance and weighted fourth and fifth amongst all groups.

Weights equate to the cost of not satisfying a requirement.

Constraints:

1. Floors shall preferably have four team members.

2. Each floor should have at least one team member with strong % yield.

3. Each floor should have at least one team member PA with strong partnership scores.

4. Each team should have at least one team member with strong attendance and punctuality.

5. Each team should have at least one team member with strong quality assurance scores.

6. Each team should have at least one team member with strong average cycle time.

7. Each team must have only one graphics person.

8. Decision variables should be between 1 and 25.

9. Decision variables should be an integer.

Formulation

Use evolutionary Solver.

Problem Definition

Object is to minimize “cost” of Presentation Assistants by assigning large “cost” penalties to teams failing to meet managers’ requirements.
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 where j = floor and y = a Presentation Assistant
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Solution Methodology

Listed below is the raw data per presentation assistant.
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Listed below is a sample of the raw data that was then converted to 0’s and 1’s to work properly in the model.  This was done for all 100 presentation assistants.



        CONVERTED DATA
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The Model

In H3:N27, we looked at the seven attributes for each floor.  If a floor receives a zero for an attribute, it means that the requirements were not met.  

In H31:N35, we assigned weights for each attribute according to priorities previously set by the manager for each group of floors.  Our goal is to minimize H38 (Total Penalty) which is basically summing the product of each zero and its corresponding penalty.
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Conclusion and Recommendation

Our solution came within 80 points of our desire outcome.  In essence, the 11th, 16th, 20th, and 22nd floors did not have four or five members on the team.  The 1st, 2nd, 5th, 6th, 8th, 9th, 12th, 15th, 16th, 20th, 21st, and 24th floors did not meet the requirement of having a graphics operator within the team.  However, all of the managers’ desires and priorities were met and and the Presentation Assistants should be assigned to the floors as follows:
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